Homework # 16                                                                                                    SCI 1300 


Name:_____________________________                                     

Consider a one-locus two-allele model. There are three genotypes: Red tulips (RR), white tulips (WW), and the mixed genotype RW leading to a pink tulip.

1. Suppose the initial population consists of 100,000 pink tulips and 100,000 red tulips. What will be the approximate ratio of the three genotypes in the next generation? Note that the allele ratio R:W is equal to 3:1. (Show your work on the back if you need more space.)

2. Repeat 1. with an initial population of 50,000 pink tulips and 100,000 white tulips. Observe that the allele ratio R:W is 1:5.

3. For 10 extra-credit points: The ratio of the genotypes in the next generation does in fact only depend on the allele ratio, not on the initial ratio of the genotypes. In general, can you predict the ratio of the genotypes in the next generation given the allele ratio?
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